
101 N. Euclid Avenue, Bradley, IL 60915

ver. RB-RF-PLOW_2024.12.16.AFK.WEST /  Rev. 1.0
December 16, 2024Register at www.arcticsnowproducts.com

A-FRAME KIT
WESTERN STYLE MOUNT



www.arcticsnowproducts.com  | 2Arctic RazorBack RetroFit Plow™ Western Style A-Frame Kit Parts List

•	 Western Style Retrofit A-Frame

RAZORBACK STRAIT RETROFIT A-FRAME KIT: WESTERN STYLE (RBSB9302-W)



www.arcticsnowproducts.com  | 3Arctic RazorBack RetroFit Plow™ Western Style A-Frame Kit Parts List

WESTERN STYLE A-FRAME (RBSB9302-W)

ARBW0152
Rear Angle Bolt
3/4-10 x 4.5” Hex Head Bolt

RBSB9301-W
RazorBack Strait Blade 
Western Style A-frame Weldment

LDTP9469
3/4-10 Shallow Lock Nut

WM0032
A-frame Pin

SPAWLD9170
1/4 NPT to -6 JIC 90 Degree Fitting

SPAWLD9214
Cotter Pin for 1” Pin

ARBW0098
3/4-10 Lock Nut

LDTP9010
Angle Cylinder

ARBW0108
Rear Angle Cylinder Sleeve

ARBW0113
Main Angle Bolt
3/4-10 x 12” Hex Head Bolt


